MCS 352 2009-2010 Spring
Exercise Set IV

1. Find the following limits. 8. Find the radius of convergence of the following.
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6. Use the ratio test to find a disk in which the following
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14. Find the radius of convergence of the following power
series:
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n—oo

1
lim —(z1+ 204+ -+ 2,) = A

n—oo n

17. Expand (1 — z)~™, m a positive integer, in powers of
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19. If f(2) = Zanz”, what is ananz"?

20. For what values of z is

i::(ljz>n

2243
i +1 ,in powers of z—1. What is the radius
z

convergent?

21. I()I Wllat \/alues ()f zZ 18
E P —
1 + z n

convergent?



